Quiz 6

Name: Student Number:

1. A player shoots stone A with a velocity v head on against stone B initially at rest.
a) (2 marks) Draw a diagram illustrating the motion of the two stones before and
after the collision. Label all velocities and masses.
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b) (2 marks) Write down an expression using Conservation of Momentum
relating the initial and final velocities.
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¢) (2 marks) Assuming the collision is elastic, write down an additional equation
relating the variables.
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d) (4 marks) Find the final velocities of the two stones if stone B is half the mass
of stone A.in Terms ot V.
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